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Problem quickname: 1824

1)
Calculate the result.

a) 8.05- 0.8 b) 6.05 - 0.2 ¢)4.04-0.1 d) 7.04-0.8 e) 7.06 - 0.5
£) 4.02-0.9 g) 2.01-0.6 h) 5.07 - 0.2 i) 2.03-0.3 j) 4.03-0.3

2)

Calculate the result.

a) 10.06 - 0.0008 b) 8.09 - 0.0005 ¢) 6.03 - 0.0007 d) 2.05-0.0007
e) 8.07 - 0.0008 f) 10.09 - 0.0006 g) 1.06 - 0.0006 h) 4.03 - 0.0009
i) 8.01 - 0.0009 j) 3.01 - 0.0009

3)

Calculate the result.

a) 0.402-0.13 b) 0.369 - 0.27 c) 0.599 - 0.87 d) 0.33-0.479

e) 0.41 - 0.389 f) 0.83 - 0.463 g) 0.502 - 0.53 h) 0.765 - 0.37

i) 0.14 - 0.121 i) 0.726 - 0.72
4)

Calculate the result.

a) 0.009 - 0.2 b) 0.008 - 0.4 ¢) 0.004- 0.8 d) 0.002-0.3
¢) 0.007 - 0.5 £) 0.002 - 0.4 g) 0.008 - 0.7 h) 0.003 - 0.1
i) 0.003 - 0.6 i) 0.006 - 0.5

Good Luck!
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